NOTES

GALVANISED WASHERS

«» TO BE USED HERE 420, SLAPPING PLATE 1.) THIS DRAWING IS NOT TO BE SCALED.

T = PADLOCK PROTECTOR 140 L 220 600 x 70 x 5 mm AT

. 200 x 200 x 6.3 (SHROUD) OUTSIDE ] /_BACK OF GATE 2.) GALVANISING TO BE IN ACCORDANCE WITH B.S. EN ISO 1461.

g —ENDS OF ALL THESE &'| ) 200 SHS 3 mm PLATE. - 3.) GREEN POWDER COATING TO BE IN ACCORDANCE 5. WITH B.S.

BOLTS TO BE w4 ggAW éBOLT FLAT EN 13438. COLOUR; MOSS GREEN RAL 6005.

% -

o BURRED TO — VvV — |: o | X 2 mm 4.) PALES TO BE TRIPLE POINTED & SPLAYED, AND WELDED TO

8 7 PREVENT REMOVAL ROUNDED DRAW BOLT FLAT 8 A RAILS IN ACCORDANCE WITH CL. 5.1 OF BS 1722-12.

\\
B x 1 OF NUTS N EDGES 50 x5 mm "l o 2 ™S ;%OTE%T&GDR;%W PIN 5.) GAP BETWEEN PALES AND BETWEEN PALES AND RSJ TO BE NOT
< e N ™ mm GREATER THAT 50 mm.
| o N L]
8 |80 x 80 x 3.6 SHS N N BOTH SIDES
N = N 6.) MINIMUM HEIGHT OF GATES ON EITHER SIDE OF COMPOUND IS
POST CAP DETAIL ,‘_ 70 BE 2600 mm.
DETAIL / 2\ 210 — <|, % 7.) IN AREAS OF MADE—UP GROUND, ADDITIONAL CONCRETE TO BE
. USED IN BASE QUANTITY TO BE APPROVED BY THE ENGINEER IN
SCALE 1:20 \ 001 / SCALE 1:20 — | | ADVANCE.
8.) CONCRETE TO BE GRADE C30/37.
LOCK DETA“_ 15 mm EYE HOLE
FOR PADLOCK 9.) THE GATE IS TO BE CONSTRUCTED IN ACCORDANCE WITH B.S.
1722 PART 12.

REST FOR TOWER BOLT 76 x 3 x 2225 mm LONG SCALE 1:20

10.) TOP OF PALES TO GATES TO BE LEVEL WITH TOP OF PALES TO
FENCE.

SLAPPING PLATE

50 MIN
WELDED TO RHS TO LEAF 'B’ | mm

75 x 6 mm PLATE — | 11.) WASHERS TO BE USED ON ALL NUTS.

WITH 6 mm FILLET WELD
WELDED TO GATE e
z TRUALAL
f = =40 x 40 x 5 RHS RECEIVER -
j u WELDED TO GATE ©
STOPPER 10 PLATE o
25 mm Dia. CROSS BOLT C'-EAT WELDED TO oll9 80 x 80 x 3.6 SHS
BACK OF TOWER L | g ®
PLAN BOLT, A393 MESH TOP & x &
BOTTOM 50 mm COVER =
DETAIL 1 SHOWING LOCKING ARRANGEMENT PLINTH DETAIL AT EEN KX
SCALE 1:20 ENTRANCE GATE DETAIL / 3\
SCALE 1:20 001
CLEAT WITH 16 mm Dia.
200 HOLE FOR PADLOCK
* B 'r 190 S 25 mm ¢ DROP
40 x 40 x 5 SHS 150 BOLT
I o ¥ ECEIVER WELDED HINGE PLATE_____ 500 x 600 x 600
X X mm
« * / SN "~ . C30/37 CONCRETE WELDED WITH 6 mm
/g // s 4 e : FILLET WELD
L 30 | | 380 - [CLEAT WELDED TO L 23 / . 9 3"—*—'-' _ 18 mm M.S. PLATE >/ N
CROSSBOLT THE | / / /// e WELDED WITH 6 mm o
1 o S TCROSSBOLT IS TO PASS %// . .. 150 x 100 x 8 mm  F | FT WELD \
50 x 50 x 10 mm /ﬁ THROUGH HOLE IN CLEAT, J ,,, / o : STHESEfALVAN'SED — .
=== N~ | .
ANGLE REST FOR 7: 'F‘,%gﬁl'z')?\l TOWER BOLT IN N Ce R L J
TOWER BOLT ) : ST —t3s
2 x 50 Dia. GALVANISED 1 . 190 x 140 x 8 mm
STOPPER TO STEEL TUBE (FLUSH WITH £ caa GALVANISED STEEL =k )
PREVENT COMPOUND SURFACE) PLATE 75 mm LONG x 38 mm Dia.
REMOVAL OF BOLT STOP IN 300 mm DEEP SECTION B-B SOLD PIN WELDED TO
25 mm Dia. DROP CONCRETE PLINTH POSITION X X mm M.
BOLTS OF GATE STOPS TO MATCH WELDED TO GATE PIERS WITH
LOCATION OF DROP BOLTS. 6 mm FILLET WELDS
H e_-‘."- : DETAIL / 1\ :
=l . SCALE 1:10
DETAIL / 1 \ SEtT'ON C C . SCALE 1:5 \ - /
SCALE 1:20 001
— COPYRIGHT © ESBI ENGINEERING & FACILITY MANAGEMENT LIMITED. _ ‘ ]
- = Client Drawing title All rights reserved. No part of this work may be modified or reproduced or copied in any form or by any means - graphic, electronic or
One Dublin Alrpset Gentral, ESB WIND DEVELOPMENT LTD. AND TIMAHOE NORTH SOLAR FARM e RO BB/ o0 g g o Mometon o e e, ot oy pposs ol e 5
Dublin Airport, Cloghran, Co. Dublin | BORD NA MONA POWERGEN LTD. PALISADE GATES - NOTES & DETAILS Drawn Produced Verified ‘Approved ‘Approved date
narketing@e rProject SHEET 2 OF 2 S.Bolton
1 Jo6.12.14 CLIENT NAME REVISED sB|sB|BL|Ds INTERNATIONAL TIMAHOE NORTH SOLAR FARM Client ref. No. of sheets Size Scale
o [16.02.14 ISSUED FOR PLANNING rk | re | BL [ DS > ) ESB International is a trading name of TC219348 1 A3 AS SHOWN
Rev| Date Revision description Drn. |Prod] Ver. | Appj és ﬁ ESBI Engineeri"g& Fac”“‘f Managemeni Ltd
Purpose of issue - Preliminary unless indicated : U Registered Office: as above Contract Production unit [ Drawing number Sheet Rev
Tender [] Client approval [] Construction[] As-built[] Revised [] J{ = Rraihmosrndin Jaiane Ho, 108240 L ESB WIND DEVELOPMENT LTD PE605-D025-009-002-001

BF=DR6-013-004-001 p:\meridian\transfer\timahoe\dec\pe605—d025—-009—-002—001.dwg


AutoCAD SHX Text
CLEAT WELDED TO CROSSBOLT THE CROSSBOLT IS TO PASS THROUGH HOLE IN CLEAT, LOCKING TOWER BOLT IN POSITION.

AutoCAD SHX Text
40 x 40 x 5 SHS RECEIVER WELDED TO GATE

AutoCAD SHX Text
CLEAT WITH 16 mm Dia. HOLE FOR PADLOCK

AutoCAD SHX Text
STOPPER TO PREVENT REMOVAL OF BOLT

AutoCAD SHX Text
25 mm Dia. DROP BOLTS

AutoCAD SHX Text
2 x 50 Dia. GALVANISED STEEL TUBE (FLUSH WITH COMPOUND SURFACE) STOP IN 300 mm DEEP CONCRETE PLINTH POSITION OF GATE STOPS TO MATCH LOCATION OF DROP BOLTS.

AutoCAD SHX Text
50 x 50 x 10 mm ANGLE REST FOR TOWER BOLT

AutoCAD SHX Text
SLAPPING PLATE 600 x 70 x 5 mm AT  BACK OF GATE

AutoCAD SHX Text
DRAW BOLT FLAT 50 x 5 mm

AutoCAD SHX Text
15 mm EYE HOLE FOR PADLOCK

AutoCAD SHX Text
10 mm   DRAW PINPROJECTING 70 mm BOTH SIDES 

AutoCAD SHX Text
DRAW BOLT FLAT  50 x 5 mm

AutoCAD SHX Text
PADLOCK PROTECTOR (SHROUD) OUTSIDE 3 mm PLATE.

AutoCAD SHX Text
25 mm Dia. CROSS BOLT

AutoCAD SHX Text
STOPPER

AutoCAD SHX Text
40 x 40 x 5 RHS RECEIVER WELDED TO GATE

AutoCAD SHX Text
76 x 3 x 2225 mm LONG SLAPPING PLATE  WELDED TO RHS TO LEAF 'B' WITH 6 mm FILLET WELD

AutoCAD SHX Text
EX. 10 PLATE CLEAT WELDED TO BACK OF TOWER BOLT,

AutoCAD SHX Text
REST FOR TOWER BOLT

AutoCAD SHX Text
75 x 6 mm PLATE WELDED TO GATE

AutoCAD SHX Text
200 x 200 x 6.3   SHS

AutoCAD SHX Text
ROUNDED EDGES

AutoCAD SHX Text
200 x 200 6.3 SHS

AutoCAD SHX Text
80 x 80 x 3.6 SHS

AutoCAD SHX Text
80 x 80 x 3.6 SHS

AutoCAD SHX Text
200 x 200 x 6.3 SHS

AutoCAD SHX Text
ENDS OF ALL THESE BOLTS TO BE BURRED TO PREVENT REMOVAL OF NUTS

AutoCAD SHX Text
GALVANISED WASHERS TO BE USED HERE

AutoCAD SHX Text
18 mm M.S. PLATE WELDED WITH 6 mm  FILLET WELD

AutoCAD SHX Text
12 mm M.S. PLATE WELDED WITH 6 mm FILLET WELD

AutoCAD SHX Text
75 mm LONG x 38 mm Dia. SOLID PIN WELDED TO  80 x 80 x 12 mm M.S PLATE WELDED TO GATE PIERS WITH  6 mm FILLET WELDS

AutoCAD SHX Text
NOTES  1.) THIS DRAWING IS NOT TO BE SCALED.  2.) GALVANISING TO BE IN ACCORDANCE WITH B.S. EN ISO 1461. 3.) GREEN POWDER COATING TO BE IN ACCORDANCE 5. WITH B.S. EN 13438. COLOUR; MOSS GREEN RAL 6005. 4.) PALES TO BE TRIPLE POINTED & SPLAYED, AND WELDED TO RAILS IN ACCORDANCE WITH CL. 5.1 OF BS 1722-12.  5.) GAP BETWEEN PALES AND BETWEEN PALES AND RSJ TO BE NOT GREATER THAT 50 mm.  6.) MINIMUM HEIGHT OF GATES ON EITHER SIDE OF COMPOUND IS EITHER SIDE OF COMPOUND IS  SIDE OF COMPOUND IS TO BE 2600 mm.  7.) IN AREAS OF MADE-UP GROUND, ADDITIONAL CONCRETE TO BE USED IN BASE QUANTITY TO BE APPROVED BY THE ENGINEER IN ADVANCE.  8.) CONCRETE TO BE GRADE C30/37. 9.) THE GATE IS TO BE CONSTRUCTED IN ACCORDANCE WITH B.S. 1722 PART 12.  10.) TOP OF PALES TO GATES TO BE LEVEL WITH TOP OF PALES TO FENCE.  11.) WASHERS TO BE USED ON ALL NUTS.

AutoCAD SHX Text
GL

AutoCAD SHX Text
A393 MESH TOP & BOTTOM 50 mm COVER

AutoCAD SHX Text
25 mm   DROPBOLT

AutoCAD SHX Text
150 x 100 x 8 mm RHS GALVANISED STEEL

AutoCAD SHX Text
190 x 140 x 8 mm GALVANISED STEEL PLATE

AutoCAD SHX Text
HINGE PLATE

AutoCAD SHX Text
600 x 600 x 600 mm DEEP PAD IN GRADE C30/37 CONCRETE.

AutoCAD SHX Text
BF-DRG-013-004-001

AutoCAD SHX Text
p:\meridian\transfer\timahoe\dec\pe605-d025-009-002-001.dwg

AutoCAD SHX Text
C


